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SPECIFIC INSTRUCTIONS

Candidates have 0 amtempt Queston Nos. 1 and 2, and any four of the remaining ones.

Attempt six guestions in all
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“A declaration of fundamental rights is meaningless unless there is an effective

tudicial remedy for their enforcement.” Comment on this statement explaining

n

udicial remedies provided in the Constitution of India.

ERCESIETR ECer BCaIE i el o e e e et e b L IRE T A E R

There are many provisions in the Constitution of India which secure
imdependence and impartialily of the Judictary. Discuss Lhose provisions and
refer to important judgements of the Supreme Court.
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Can Parliament amend Parl 1T of the Constlution ol India relaling lo

Fundamental Rights? Discuss,
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Explain relations hetween the Union and the States in legislative matlers with

reference Lo various Articles of the Constitution.
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State the grourds on which a ‘decree for judicial separation’ may be obtained

under the llindu Marriage Act. 1955 How does a ‘decree for judicial

-
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Describe the classes of persons who can claim a right of pre-emption.
Whetner the right of pre-emption 1s still available on ground of vicinage?
Discuss,

fii) Az, TA-T A g e -A-mge-TEs WS e

Distinguish between Hiba, Hiba-Bil Evaz and Hiba Ba-Shartul-Evaz.

g & qEFETAF W § A P oAb 7Y
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1000 3 #1331 Fem, 2015 %) 9 369% W@, 7400 v #=fs £ =9 99F F0om) 9w
4 9] 495w, 2015 % TFF e G50 Hgeo' ZHZEE, "o Hlo Hie' TR wWEF F A8 fiH4
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What do you understand by anticipatory breach of contract?

M/s XYZ Textile enters into a confract with ABC Garment Showraom for
supply of 1000 pleees of cotton shirts at ¥ 400 per shirt to be supplied ¢n or
before 31st December, 2015. Later on, on 1lst November, 2015 XYZ Textile
informs ABC Garment Showroom thal they will not supply the shirts. Discuss
the remedies available to ABC Garment Showroom.
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What do you understand by mortgage? What are the essentials of valid
mottgage? Distinguish between moertgage and charge,

fafefaa 1 = i
Distinguish between the following .
(i) EE TRe e gwiAE e

Vested interest and Contingent milerest
(i) E e ST

Lease and. Licenee
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What are the effects of non-registration of a partnership firm? Whether the
effects of non-registration of firm can be cured during pendency of the suit by
getting the firm registered? Discuss.

Mpohan and Sohan were partners in an unregistered firm. There was provision
in partnership deed that in case of any dispute between the partners, the
matter will be referred to arbitration. After some time, a dispute arose between
the partners and Mohan appointed an arbitrator but Schan did not give his
consent and refused to refer the dispute to the arbitrator. Whether Sohan can
be compelled to refer the dispute to the arbitration?
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“Sharing of profit is prima facie evidence of partnership, but not conclusive.”

Discuss,

Sanlosh is wife of Alok. She gave her Stridhan to Alok. Alok started his
business from that Stridhan. Whether Santosh and Alok are partners?
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“No case of actionable negligence will arise unless there i1s a breach of duty to
take care.” Discuss this statement with the help of decided cases.

“ge wiEn F Igm W oEeE Wi R w3 ' a9 & afia & fefim g
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“The Court can provide compensation for violation of Fundamental Rights.”
Analyze this statement in the light of emerging principle of liability of State.
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Distiniguish between the following : 5¥5=10
(i) EA T WOER

Assault and Baltery
(if) FIAH @ 3R AR T=

Libel and Slander
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What are the rights of beneficiary in the Indian Trust Act? Discuss, 10
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‘What do you understand by doctrine of cy pres? On what type of trusts this

(/’

doctrine is applied? 10
Ttaten T 1 33w aten s@nen i
Explain the following maxims with illustrations : 5+5=10

(i) TR =EA 3T F | Siad] Jed |
He who seeks equity must do equity.
(i) T | HEE E, S8 e sAtE 2l
Where equities are equal, the law shall prevail.
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What do you understand by ‘easement by prescription”™ What are its
essentials? Distinguish between profit a prendre and easement, 15
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What do you understand by ‘specific reliel’? Whelher specific reliel can be
granted for enforcement ol criminal law? 15
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*An agreementl without censideration is veid.” What are the exceptions to

this rule? Discuss.

A nwes ¥ 10,000 to B but the debt is barred by the Limitation Act. A signs a
writtenn promise to pay B ¥ 5,000 on account of debt. Is it valid contract? Refer

to relevant provision of the Contract Act. 15
(b) =™ A "W W % g fGer-fTwes = vm T 2 W 9 el ) sEty wmin w o
a2 W 3 faar-fase & sy -faws sdid FI S EFER A R W F Gy
foame 1 @l A= gagn) #=51 gun FE Al 42 gie adle w4 I’ aFl 9a
feg @1
C was granled divorce by the Courl against P. C got remarried before the
expiry of the period of appeal. P filed an appeal against the order of divorce and
it has been granted. Discuss the legality of the second marriage of C, Will it
make any difference if the appeal is dismissed? Both the parties are Hindu. 15
9. f=icfiaa 1 = #ifvm
Explain the following :
(a) HEET f&afg § dems % Fitm gy
Legal consequences of Talak under Muslim Law 10
(b) hirdh N 7% 7E § I
Difference between Acknowledgement and Adoption 10
(c) Temn sin gf zoiver fafa 9 o=
Difference between Shia and Sunni Succession Law 10
' |
10. fefafad wmensdt 8 4 fad €7 w1, i &Y = 3ge =@ g, @ fifm
Solve any three of the following problems by referring to relevant law :
() v giEn 9 ‘g’ gHE FAR i GfEm w8 ) 36 TRl 9l Wge |, ave uiE digdl F
s-ata gores famw vd wor-amor & gE w14t 2 e’ 5919 ¥ Jufwa fbfh, & @ v g
Al vl @ A AgF 2 R, 1 oaE 2@ B Rl Hfifem
A Muslim husband W contracts a second marriage. His first wife Z claims
separate residence and maintenance under the Criminal Procedure Code.
W pleads defence of his personal law which permits him to take more than
once wife, Decide. 10
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A contracts to pay ¥ 10,000 to B if B's house is burnt. House of B is burnt. Can
B recover ¥ 10,000 from A? Is it a wagering agreement?

o mER =R A F el e ® F Al F R
A abuses B in a lonely room. State the liability of A.

‘', A A PIER FEY R W § 9Eg HA e 9 99 B 2l anea 4w s 4
arfiEr JF R OW, 9w TUE AE oW W B F ¥, 9 % FE F fu A Ry
A introduces /7 to C as his partner and B remains silent. In fact, A and B are

not partners. C supplies goods to B on credit. Is A lhable for B's act?
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